Durch- Durch- Durch- Durch- Durch-
Nr. Bahn |gang Gruppe Zeit | Fehler |Punkte Bahn gang | Gruppe | Zeit | Fehler [Punkte | Bahn gang | Gruppe | Zeit | Fehler |Punkte | Bahn gang | Gruppe | Zeit| Fehler |Punkte | Bahn [gang | Gruppe | Zeit | Fehler | Punkte |
T 1A 1 Leisach 2 20,29 | 10 | 449,71
1B 2 Huben im Otztal 4 63,22 65
A ] 1 Niederthai 3 [31,20] 20 H_
| _2A | 16 Huben im Otztal 2 [ 38.05] 10 451,95
[G12a] 3 Freilos [500,00] 0 H_
1428 4 Huben im Otztal 2 [ 4342 ] 10 446,58
28 | 1 Huben im Otztal 2 T42.27] 5 H_
3B | 8 Huben im Otztal 1 129,41 15 455,59
[513A] 5 Piller [ 3539 ] 0O 464,61
s3] o Lienz 4575 | o H_
3A | 2 Huben im Otztal 1 [31,12] 0 468,88
A | 15 Polling 2 [2576] 0 H_
7121 7 Oberdrum 2 T 4562 ] 0 H_
1sl48] 8 Lingenfeld 1 [ 3971 ] o 460,29
2B Huben im Otztal 1 [31,77] 0 468,2
3B | 4 Sillian [3326] 0 H_
S15A] 9 Freilos [500,00] 0 H_
110[58] 10 Polling 2 | 3772 ] 15 447,28| -
5A | 3 Sillian [38,60] 5 456,40
6A | 14 Leisach 2 [ 44,06 10
[FTT6A] 11 Flaurfing 1 [ 3581 ] 0 H_
11268 12 Niederthai 3 [ 2095 0 470,05 | _
4B | 2 Sillian [33,23] 10 | 456,77
58 | 7 Piller [38,56] 10 H_
[13T7A] 13 Sillian [ 3368 | 0O 466,32
I7a{ 78] 14 St. Johann im Walde [3771 [ o H_ _
1B | 4 Piller [3481] 0 465,19
28 | 13 Oberdrum 2 [4379] o H_
5] BA] 15 Freilos 500,000 H_
16| 8B | 16 Breitenbach 1 4232 | 0 457,68 Finale
3A Huben im Otztal 1 [30,24] 0 469,76
4A Huben im Otztal 3 35,74 5
[T7ToA] 17 Huben im Otztal 3 [ 3759 | 0 462,41
[7slos 18 Thurn 2 [ 3883 | 0 H_ _
3B | 5 Flaurling 1 [33,78] 0 466,22
4B | 12 Breitenbach 1 [2099] o H_
[7oT10AT 19 Huben im Otztal 1 [31,11] 0 468,89
120 08] 20 Brixlegg 4301 | 5 H_ _
2A | 3 Flaurling 1 (34,4510 H_
3A | 6 Huben im Otztal 3 13550 0 464,50
21[11A] 21 Freilos 500,00 0 H_
22118 22 Glanz 3505 | 5 459,95
58 | 6 Huben im Otztal 3 3583 0 464,17]
68 | 11 Glanz 3146| 5
23] 12A] 23 Léingenfeld-Gries 1 | 3986 | o | 46014
124[12B] 24 Leisach 1 | 4533 ] 20 4B Huben im Otztal 3 13581 0 464,2
58 Thurn 2 [37.43] 10 H_
"~ 1 2a ] 7 St. Johann im Walde [ 39,31 5 455,69
) 1 3a | 10 Langenfeld-Gries 1 [ 41,04] 10
(72}
o -
| A | 4 - St Johann im Walde | 37,76] 5 H_
5A 5 Thurn 2 41,52 ’
> | [4152] 0 458,48
=
=}
| 4A | 8 Thurn 2 3915| 0 460,85
5A | 9 - Liingenfeld 1 3502] 10 H_
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